Genetics Worksheet Dihybrid Crosses
Name ______________________________






Date ___________________ Per ________

1. In dogs, there is an hereditary deafness caused by a recessive gene, “d.” A kennel owner has a male dog that she wants to use for breeding purposes if possible. The dog can hear, so the owner knows his genotype is either DD or Dd. If the dog’s genotype is Dd, the owner does not wish to use him for breeding so that the deafness gene will not be passed on. This can be tested by breeding the dog to a deaf female (dd). Draw the Punnett squares to illustrate these two possible crosses. In each case, what percentage/how many of the offspring would be expected to be hearing? deaf? How could you tell the genotype of this male dog? 

Using Punnett square(s), show how two hearing dogs could produce deaf offspring.

2. What gametes (sex cells) could be produced by organisms having the following genotypes?

a. AaBB

b. aaBB


c. Aabb

d. AaBBCc (try this one!)

3. Use this information to fill out the following chart:

R – can roll tongue

F – free earlobes

r – cannot roll tongue

f – attached earlobes

	Phenotype
	Genotype

	
	FFrr

	
	FfRr

	Heterozygous roller with attached earlobes
	

	Can roll tongue with attached earlobes
	

	Cannot roll tongue with heterozygous free earlobes
	


4. For the following questions about dogs, use this information:

T – wiry coat texture

H – curly hair

t – silky coat texture

h – straight hair

a. Give the genotype and phenotype ratios for this cross    TtHH  x  ttHH

b.  Give the genotype and phenotype ratios for this cross    TtHh  x  ttHh

5. a. In fruit flies, having wings is dominant to wingless and red eyes are dominant to sepia (brown) eyes.  Show me how you would abbreviate each allele.

b. What would be the genotypic and phenotypic ratios if you crossed a fruit fly purbred for having wings and heterozygous for red eyes with a fruit fly that is wingless and has sepia eyes?

